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ELEMENTS OF BOOK - KEEPING AND ACCOUNTANCY
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Directions: There are in all 18 questions in this question paper. All questions are

compulsory.
(i) e & FrefRe sic 370 wwia sifcd €

Marks alloted to the questions are mentioned against them.

(i) ST Yo B IS Uied aT FHfd R alforl

Read each question carefully and answer to the point.

(iv) W?@IH@‘@'%WW%‘IEHWEWE@%WﬁWW%&
o 8| T Ricpen ST SeRyRaeT  fRae | we Wi 2 3 7 e FHiad ST
7 B
Question No. 1 is multiple choice question. Four options are given in
answer of each part of this question. Write correct option in your answer
book. Question No. 2 to 7 are definite answer type questions.

(v) 521 ST 1 T F VS U 3 B & 39T YT 2 7 AP U 3 P U
$| voe T 8 I 11 TP @ 37 B T & Yo TR 12 ¥ 14 9% IR 316 B
o ¥ g R 15 < 17 AP 31S 37 b T & | T T 18 IIRE 3l BT
gl |
Each part of Question No. 1 carries one mark. Question No. 2to7
are of one mark each. Question No. 8 to 11 are of two marks each.
Question No. 12 to 14 are of four marks each. Question No. 15 to 17
are of eight marks each. Question No. 18 is of twelve marks.
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(i) 3 fugT ve arafaes @mar &
(i) 3mfie RIgT v sraRafa® @
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(iv) IR A P& 0 T
Write correct option in your answer book :
(i) Balance sheet is a Real Account.
(i) Balance sheet is a Nominal Account.
(i) Balance sheet is a statement.
- (iv) None of the above

(@) 31~ efr o1 qeaic fsar smar & -
(i) CINId Heg )
(i) SR Yo
(iii) AT e 37IaT SISTR Hed, 511 4 31fres &
(iv) ST Hea 35T aT5TR 9o, 57 4 &9 2|
The valuation of closing stock is settled at :
(i) Cost price
(i) Market price
(iiif) Cost price or market price, which ever is more.
(iv) Cost price or market price, which ever in less.

() dob TN fgaror daR 5o sar & -
(i) PS ISP B 3feT T P YR W
(i) U §F B Bise D! & MR T
(iif) 1P YRTD 3TTaT U B et oY aTedY 3 3R )
(iv) delUc & 3MYR TR
Bank Reconciliation statement is prepared :
(i) On the basis of debit balance of cash book.
(i) On the basis of credit balance of Pass Book
(ii) Either on the basis of Cash Book balance or the Pass Book balance

(iv) On the basis of Trial Balance.

() %ﬁmua%ﬁméswﬁmmmﬁmmé-
(i) @ER & gRT (i) SR & gRT
(i) §P b gRT (iv) [0 & 9IRS & grT
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At the time of the dishonour of the bill, the noting charges are paid':

i (i) By the creditor (i) By the debtor
| (i) By the bank (iv) By the Holder of Bill
() 5,000 B0 TeT B T B @A B bl @t F e R fear Wl qEE:
() Wifs s (i)  &fTuR® 3y
(iii) BE ST arel SR (iv) T8 9 DI 6l

The purchases of a Machinery amounting of Rs. 5,000 was debited in
Purchases Account. This error is:

(i) Error of principle (i) Compensatory error
(i) Error of ommission (iv) None of these

(@) U waT & gh i 210,000 3 &Y, S AR @ ¥ sfae o fad mal stursmg%
%Wm%%ﬁﬁwﬁmﬁéaﬁqwa@mm

(i) 9a" @ %ot 3R Aws @ e
(i) 9 @ %o 3R TR @ el
(jif) FREA e Foi 3R Wa e e
(iv) TR @ Fol 3R s @ el

An amount of ¥10,000 was spent in the additional construction of a building.
It was debited in the repairs account. To rectify this error, which of the
undermentioned entries shall be made:

(i) Building Account Dr. and Cash Account Cr.
(i) Building Account Dr. and Repairs Account Cr.
(iii) Repairs Account Dr. and Building Account Cr.
(iv) Repairs Account Dr. and Cash Account Cr.
(®) & & MO B S & ' 1

(i) pacT R FH N
(i) Paet Ia FHRT W
(iii)  SpaeT PICATID T TR
(iv) 3RIH TH

243 (HHP) [3] [ P.T.O.




The computation of depreciation is made on:
(i) Only on fixed assets

(i) Only on current assets

(iii) Only on Fictitious assets

(iv) All of the above

(37) TP A BT SFFAIA Slia-iedter 5 9§ &1 ST 3G9I Te 5,000 10 2| A I
febeet Tfer & 319X 9,000 60 TR BT e ST ol T BT AR e ENTl-
(i) T 45,000 ' : 1
(i) ¥ 50,000
(iii) ¥ 40,000
(iv) 379 9§ BIS &

The estimated life of a Plant is 5 years. Its residual price is Rs. 5,000. If
according to the fixed instalment method an amount of Rs. 9,000 is annually
depreciated in the plant, the cost price of the plant will be :

(i) < 45,000

(i) ¥ 50,000

(i) ¥ 40,000

(iv) None of the above

RIS Q¥eie BT DI W1 9 3aRSITT Paerel &, SRe srmar Biee? 1

Which balance of the Cash Book is called overdraft, debit or credit?

%ﬁawqa%mﬁsm%@mé,ﬁw,éqmm%? 1

Who writes the Bills of Exchange, Creditor, Debtor or Bank?

X 100 HHITH & 51T g8 TR 39 =157 @i & e o e 74| 39 31 @1 3rf~ay
QT § T7 §919 q277? 1
< 100 received as commission. But it was credited in the interest account. What
will be the effect of this error in the Final Account?

&1 AT, ETdil DY I BT AT FamoT &2 1

Is the Trial Balance a final proof of the accuracy of accounts?

T BT BT 5 BROT fORI1Ge (Wear and Tear) & o1 31@e (obsolescence)? 1
What is the main cause of depreciation, Wear and Tear or obsolescence?
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At the time of preparing final accounts, where the amount of depreciation is
transfered? To the Tranding Account or Profit and Loss Account?

31 et < 3y g wHE &p U feaw &t O B o Skl &7 2

What do you understand by days of grace? How the days of grace are computed?

faftrma o wa wfors oo | &1 < 3= foifae| 2

Write any two differences between Bills of Exchange and promissory notes.

eI BN T el B arel argfeai ferfae| 2

Write the errors which do not affect the trial balance.

I = TrRidl W 2 3 TaRT T8l B, a1 3if~a @l § $HST a1 TH1d TSR FIr
BT B AR B TG DS S o oY fosd 1l 82 2
If we do not make any provision for depreciation on Assets, what will be its
effect upon the Final Accounts? Whether any journal entries are also made at
the time of making provision for depreciation?

Qs qRad 3R U g ¥ 310 T1 THEH 82 - Ahg T AR g S Ao H
3R T 37 ST & 3R s wHeE S foban St 82 4
What do you understand by Cash Book and Pass Book? Sometimes why there
is difference in the balance of cash book and pass book and how it is reconciled?

v R v o 2 &2 ffma v F e teieR 81 &7 U AR & ford gt @
3TN &l 7 4
What is the Bills of Exchange? How many parties are there in a Bill? What is the
importance of it for a businessman?

T9T Y 379 TR 2 15,000 T U Tt o, 3Ry 3 = WiBR a5 fera| e = 3l
Rt 57 e 7 310 AFIER GRS b A ST 3 | et bt ety Ok fefet T e
2 | 1pe 3R NG P ! § AELAB S daredi Qo | 4
Rakesh drew a bill upon Ashok for ¥15,000, which was accepted by Ashok.
Rakesh endorsed this bill on the same day to his creditor Suresh. On the due

date the payment of the bill was made. Make necessary journal entries in the
books of Rakesh and Ashok.
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15. i faror 1 31 fexrwaR, 2004 Y v AR &1 § T a0 SR 51 BT
fob 39 foifr @1 ureag e & fose 9w <@ TnfRd- 8
(i) 31%,2004@%@%@%6340&@6@@%% i
(i) 31 feTeR 9 3 SMRGITT W 6 FEM BT 1T X 160 TGS F Tot Y 3T 7
AT

(iii) 3% f<ifer 9 d6 g & T 30 UgS @ 3fie fFd ™ A

(iv) SITIRT =T @R BT % 1168 & U e &, W) 78 31 v, 2004 I 3% I IgA
T {5 T 9 -

(v) ORI 31 f&awR, 2004 & 0d 2 2170 & J6 85 & 5797 By o, R 3 dabl Bl
BT d GRT I &l febaT T T

From the undermentioned details, prepare a Bank Reconciliation statement of a

businessman on 31st Dec., 2004 and find out what should be the balance of

' pass-book on that date- ‘

(i) There was a Bank overdraft of ¥ 6340 according to Cash Book on 31st
Dec., 2004.

(i) An amount of ¥ 160 as interest on overdraft for six months had been
entered in pass book till 31st December.

(i) Bank charges amounting to T 30 had also been debited in the Pass Book till
that date. :

(iv) The businessman had issued cheques to the people for ¥ 1168, but they
were not collected from the Bank till 31st December, 2004.

(v) The businessman had deposited cheques for ¥ 2170 in the Bank before
31st Dec., 2004, but the amount of these cheques had not been collected

by the Bank. :

16. (@) ﬁmﬁamﬁaﬁwwmmmaaﬁaﬁﬁmmq@n— 4
(i) o & BT AT T 100 HF AT T7)
(i) faosar aTo=h &8 &1 I 2 30 X 31fer &) T
(iii) TP TR ¥ 9T X 150 B IBH ID @I 3 577 Te¥ 3 T
(iv) X 300 BT BHIeR BT 5T HRITCT a0 T F e o1 & wn)
What will be the effect of the undermentioned errors in the trading account
or in the profit and loss account?
(i) The total of the Purchases Book was undercasted for ¥ 100.

(i) The total of sales Returns Book has been overcasted by ¥ 30.
(iii) An amount of ¥ 150 received from a debtor was not credited in his

account.
(iv) The purchases of Furniture amounting to T 300 was debited in the
office expenses account.
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(i) T 200 B, FRATT B IBH BT T TN H fd¢ IR o Tl

(iii) T 400 3MERUT & IBH I T Wi | sfye &= A 51

(iv) T 2500 P U it 79+ @REl, 5 6 B @ § Sfae &= a1 |

Give journal entries to rectify the undermentioned errors:

(i) The goods amounting to ¥ 150 was returned by Ganga Prasad, but it
was not entered in the books at all.

(i) The amount of ¥ 200 as repairs was debited in the office expenses
account.

(i) The amountof X 400 as drawings was debited in the Travelling Expenses
Account.

(iv) A typewriting machine was purchased for ¥ 2500, which was debited
in the Purchases Account.

17. TP AR J 1 S, 2000 BT T 10,000 Y U AL WK | THGT SAIA Siaapret

3 a9 o] 31 foowR, 2ooza?rqsﬂ=r%2500ﬁairé‘mé| FINTA 99 UG & 3ER @20%
N e e ) i e o

2 ECIGI| | I8 RS 2INGIE
&3 3R SH®T D! H bR il T ST 8
On 1st January 2000, a businessman purchased a Machinery for ¥ 10,000. It's
estimated life was 3 years. The machinery was sold on 31st December 2002
for ¥ 2,500. It was decided to make a provision for depreciation @ 20% annually
according to diminishing balance method.
Prepare a Machinery Account for three years. Also find out how much loss or
profit was there on the sale of Machinery and how it shall be recorded in the

| W

2

books?

18. Sr=ifea aeie ¥ 31 RwR, 2010 B T B dTel @y & fod IR T & d &l
@7 v anfie-fugr dar BER- 12
=1 I54 20 =1 I5H 0
RAPS 6,100 gall 10,000
BT 17,000 GRS 2,000
I 400 fasa 30,000
TER 4,000
yRiR® e 5,000
PRI T 1,000
BHRR 2,000
wa= 6,000
&faer = 500

42,000 42,000
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(i) 31w 3&faa - 2 5,000
(i) BRR R BN - 10%

(iii) Yol W =TT -
(iv) SERIT R 3N 0T & WG - 10%

From the undermentioned Trial Balance, preparé a Trading and Profit & Loss

5%

Account and Balance Sheet for the year ending 31st December, 2010:

Particulars Amount Dr. |Particulars Amount Cr.
Cash 6,100 [Capital 10,000
Purchases 17,000 |Creditors 2,000
Salary 400 |Sales 30,000
Debtors 4,000
Opening Stock 5,000
Office Expenses 1,000
Furniture 2,000
Building 6,000
Sundry Expenses 500

42,000 42,000

The undermentioned adestments are also to be made:

(i) Closing stock - ¥ 5,000

(ii) Depreciation on Furniture- 10%

(i) Interest on Capital - 5%

(iv) Provision for bad debts on Debtors - 10%
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